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NEW QUESTION 1
A situation causes a fault to be raised on the APIC. The ACI administrator does not want that fault to be raised because it is not directly relevant to the
environment. Which action should the administrator take to prevent the fault from appearing?

A. Under System -> Faults, right-click on the fault and select Acknowledge Fault so that acknowledged faults will immediately disappear.

B. Create a stats threshold policy with both rising and falling thresholds defined so that the critical severity threshold matches the squelched threshold.
C. Under System -> Faults, right-click on the fault and select Ignore Fault to create a fault severity assignment policy that hides the fault.

D. Create a new global health score policy that ignores specific faults as identified by their unique fault code.

Answer: C

NEW QUESTION 2
Which feature dynamically assigns or modifies the EPG association of virtual machines based on their attributes?

A. vzAny contracts

B. standard contracts
C. application EPGs
D. uSeg EPGs

Answer: D

NEW QUESTION 3
Which feature allows firewall ACLs to be configured automatically when new endpoints are attached to an EPG?

A. ARP gleaning

B. dynamic endpoint attach
C. hardware proxy

D. network-stitching

Answer: B
NEW QUESTION 4

DRAG DROP
Drag and drop the Cisco ACI filter entry options from the left onto the correct categories on the right indicating what are required or optional parameters.

Name Optional Parameters

ARP Flag

Ether Type

IP Protocol

Source Port From Required Parameters

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/1-x/Operating_ACI/guide/b_Cisco_Operating_ACI/b_Cisco_Operating_ACI_cha
pter_01000.html

NEW QUESTION 5
Which description regarding the initial APIC cluster discovery process is true?

A. The APIC uses an internal IP address from a pool to communicate with the nodes.

B. Every switch is assigned a unique AV by the APIC.

C. The APIC discovers the IP address of the other APIC controllers by using Cisco Discovery Protocol.
D. The ACI fabric is discovered starting with the spine switches.
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Answer: C

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/1-x/aci-fundamentals/b_ACI-Fundamentals/b_ACI-

Fundamentals_chapter_010011.html

NEW QUESTION 6

An engineer configured Layer 2 extension from the ACI fabric and changed the Layer 2 unknown unicast policy from Flood to Hardware Proxy. How does this

change affect the flooding of the L2 unknown unicast traffic?

A. It is forwarded to one of the spines to perform as a spine proxy.

B. It is flooded within the whole fabric.

C. It is dropped by the leaf when the destination endpoint is not present in the endpoint table.
D. It is forwarded to one of the APICs to perform as a proxy.

Answer: A

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/2-x/L2_config/b_Cisco_APIC Layer_2_ Configuration_Guide/b_Cisco_APIC La

yer_2_Configuration_Guide_chapter_010.html

NEW QUESTION 7

When Cisco ACI connects to an outside Layers 2 network, where does the ACI fabric flood the STP BPDU frame?
A. within the bridge domain

B. within the APIC

C. within the access encap VLAN

D. between all the spine and leaf switches

Answer: A

Explanation:

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-infrastructure/white-paper-

c07-732033.html#_To0c395143571

NEW QUESTION 8
Refer to the exhibit.

Create vCenter Domain

Wirtual Switch Mame: Lab-VirtualSwitch

LOEIRSIGE  VMware vSphere Distributed Switch Cisco AVS

Cisco AVE )

Associated Attachable Entity Profile: | Lab-ApplicationAttachableAccessEn ~- [

Delimiter:

Enable Tag Collection:[_]

Access Mode: [ Read Only Mode Read Write Mode

Endpoint Retention Time (seconds): 0
VLAMN Pool: S
Security Domains:

Name Description

00

An engineer is integrating a VMware vCenter with Cisco AClI VMM domain configuration. ACI creates port-group names with the format of “Tenant | Application |

EPG”. Which configuration option is used to generate port groups with names formatted as “Tenant=Application=EPG"?

A. enable tag collection
B. security domains

C. delimiter

D. virtual switch name

Answer: D

NEW QUESTION 9

When configuring Cisco ACI VMM domain integration with VMware vCenter, which object is created in vCenter?
A. datacenter

B. VMware vSphere Standard vSwitch

C. VMware vSphere Distributed Switch

D. cluster

Answer: C
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NEW QUESTION 10

In the context of VMM, which protocol between ACI leaf and compute hosts ensures that the policies are pushed to the leaf switches for immediate and on demand

resolution immediacy?

A. VXLAN
B. LLDP
C.ISIS
D. STP

Answer: A

Explanation:
Reference:

https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/1-x/ACI_Best_Practices/b_ACI_Best Practices/b_ACI_Best_Practices_chapter_0101.html

NEW QUESTION 10
Which type of port is used for in-band management within ACI fabric?

A. spine switch port
B. APIC console port
C. leaf access port
D. management port

Answer: C
NEW QUESTION 13
Which statement regarding ACI Multi-Pod and TEP pool is true?

A. The IP addresses used in the IPN network can overlap TEP pool of the APIC.
B. A different TEP pool must be assigned to each Pod.

C. The Podl1 TEP pool must be split and a portion of the TEP pool allocated to each Pod.

D. The same TEP pool is used in all Pods.
Answer: B

Explanation:

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-infrastructure/white-paper-c11-739714.html

NEW QUESTION 18
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